NAME……………..………………………………………… INDEX NO……...........………………..………

SCHOOL……………………………………………………  CANDIDATE’S SIGNATURE………………

								   DATE………..………………….……………..

[image: ]
TEACHER.CO.KE SERIES 28

231/3								
PHYSICS
PAPER 3
(PRACTICAL)						
TIME: 2½ HOURS



Instructions to candidates:
(a)   Write your name and index number in spaces provided above.
(b)   Sign and write the date of examination in spaces provided above.
(c)   Answer all the questions in spaces provided in the question paper.
(d)   You are NOT allowed to spend the first 15 minutes of 2½ hours allowed for this paper 
       reading the whole paper carefully before commencing the work.
(e)  Marks are given for clear record of the observations actually made, their suitability, 
       accuracy  and the use made of them.
(f)   Candidates are advised to record their observations as soon as they are made.
(g)   Non-programmable silent electronic calculators and KNEC Mathematical table may be used.






FOR EXAMINER’S USE ONLY
 (
Part 1
)Question 1						Question 2		
	
	
a
	
b
	
c
	
d
	
	
	
a
	
b
	
c
	
d
	Part 2
a

	Maximum Score
	9
	5
	3
	3
	
	Maximum Score
	
	
	
	
	

	Candidate’s Score
	
	
	
	
	
	Candidate’s Score
	
	
	
	
	



	
Grand Total

	







Physics Paper 3			









				                                                          			Turnover
You are provided with the following apparatus:
· Cardboard rectangular strip ( 40cm ´ 5cm ´ 0.5cm)
· 1 optical pin.             
· 1 stop watch.
· Half-metre rule.
· Knife-edge.

(a)	(i)	Take the cardboard and using the knife-edge, determine the position of the centre 
of gravity.  Mark this as G.

(ii) From G, cut out holes 1, 2, 3, 4, 5 and 6 at intervals of 3cm.  Measure and record 
the distance L of each of the holes from G.

(iii) Set up the apparatus as shown in the figure 1 with the cardboard suspended by
the pin through hole 1.

(iv) Displace the strip through a small angle Ө and release it to oscillate.  
Determine the time t for 10 oscillations and fill in the table of results.

(v) Repeat step (IV) with the pin through the holes 2, 3, 4, 5 and 6 and complete 
the table 1 of results.

Figure 1


















Table 1

	Hole
	1
	2
	3
	4
	5
	6
	

	Distance L(M)
	
	
	
	
	
	
	

	Time for 10 oscillations
	
	
	
	
	
	
	

	Periodic time T (S)
	
	
	
	
	
	
	

	T2(S²)
	
	
	
	
	
	
	

	T²L (S²M)
	
	
	
	
	
	
	

	L² (M²)
	
	
	
	
	
	
	(9 marks)
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(b)	Plot a graph of T²L against L².								(5 marks)

[image: ]
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(c) Determine:
(i)	the gradient(s) of the graph.							(2 marks)













(ii)	the Y-intercept (c) of the graph.							(1 mark)











(d)	Given that [image: ]where S is the slope of the graph and C the 
y-intercept, determine the value of constant K for the cardboard.			(3 marks)
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Question 2

PART A

You are provided with the following apparatus:
· Concave mirror and a holder.
· Metre rule.
· Candle (about 7cm)
· White screen.

(a)	(i)	Determine the focal length of the mirror by focusing a distant object.

		[image: ] = _____________________________	_____________________	(1 mark)

(ii) Arrange the apparatus as shown in figure 2 below.


















(iii) Place the candle at a distance [image: ] + L (say [image: ] + 2cm) from the mirror.

(iv) Starting with the screen at a distance of 100cm from the mirror, gently move it 
towards the mirror until a sharp inverted image is formed.

(v) Measure and record the distance c.

(vi) Repeat step (iii – v) for other values of L and record your results in table 2. 
Complete the table.
	
	L(cm)
	2
	3
	4
	5
	6
	7
	8
	9
	

	c(cm)
	
	
	
	
	
	
	
	
	

	(cmˉ¹)
	
	
	
	
	
	
	
	
	(4 marks)
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(b)	Plot a graph of c against [image: ]									(5 marks)
[image: ]
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(c)	Find the slope S of the graph.								(3 marks)






















(d)	Given that [image: ]					
	determine[image: ]from your graph.								(3 marks)
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PART B

You are provided with the following apparatus:
· A voltmeter 0 – 3 or 0 – 5V)
· An ammeter (0 – 1A)
· 10W resistor (fixed).
· A switch.
· One dry cell and a cell holder.
· Six connecting wires.

(a)	(i)	Connect the above apparatus as shown in the circuit diagram below with the 
		switch S open.


















(ii) With the switch S open record E the voltmeter reading.

E = _________________________________________________		(1 mark)

(iii) Close the switch and record V, the voltmeter reading and I, the ammeter reading.

V = ________________________________________________		(1 mark)

I = _________________________________________________		(1 mark)

(iv) Given that:
E – V = Ir
Find r for the dry cell.								(2 marks)









image4.emf
o


f




o

f


image5.emf
o


f




o

f


image6.emf
o


f




o

f


image7.emf
L


1




L

1


image8.emf
 


 


 




 

 

 


image9.emf
(


)


l


l


l


+


+


=


f


L


f


2


c




 











fL

f

2




image10.emf
f




f


image1.png
[

=




image2.emf
 


 


 




 

 

 


image3.emf
g


K


C


and


S


g


2


2


2


4


4


P


=


P


=




g

K

Cand

S

g

222

44 








